:J‘F

01.

02.

03.

04.

qf% (987 12 -5k @R 2i+ j—4k 97 TGS @M T2
(a) 38.5° (b) 36° (c) 37.17° (d) 37° (e) 36.2°
AL (C); E:i—zj-sg, EzZi—j-ﬂfE

Let AAB=0
-, AB=ABcos8 = cos0 = E—E — 0 =cos” 1.2+(-2)1+(=5)(-4)

AB VOF +(2) +(=5F Y22 +12 + (- 4)
a3 TE 400m TwST (AT N6 QO TT W IR T GG I8 S0m /s mﬁﬁ’iﬁcww%ﬁmcﬂm
= | T© Ty I¥ 730 fife zrae [g IOmf’s]

(a) 180m (b) 160m (c) 140m (d) 120m (€) 80m
Aq4E: (e); 49, 9N e h Twer fifes 27 |

=37.17°

1 I =() "
From-fig, h =vt-—gt*.. (i) ; 400-h=_gt* . (ii 4 M
2 400 '
: . 400
(1) +(11); 400=wt :‘pt:E = 8sec J,V—S{]mfs h

‘77771/!/

(1) 4, h=‘n"f*%g‘£2 =50x8—%x1[}x33 —80m

QT AR WEIR 20 CIE 70m IFMER G JR 27 TG f706% | O TAres Jne I @ (e
AICS TA?

(a) 34°30 (b) 35°12 (c) 36°22 (d) 35°45" (€) 35°

st (b); r=70m, T=20sec, v= zf — 2“;070 [#fafi Taree taRe s =W 1] =21.99m /s
2 L, (21.99)° '

=" = 0=tan" 2L _ 351650 35010 ~35012 s

rg 70x9.8

21
Nute:m=T, V=@r 938 T4 I |

i3 sjrd 20m G (A B AT AT #A1f o T 7w @k @ifs /AT 600kg =iy fvfe = | 7

I IR SHE @ Sms™ T, (WG AT FIo! F9?
(a) 1.96 kW  (b) 2 kW (c) 2085kW  (d) 125kW  (e) 2.085W

TR (c); @A, m=600kg, h=20m, v=5m/s, g=9.8m/s*, t =60sec

mgh+lnw2 600 x 9.8:':':20+l:‘u:ffj(]{l:w:(5)2
P= t2 — 602 =2085W =2.085kW

[SISTaT QR R 41T IS I AT S AT o g3 feiE aw i ||




BT sz o ; Ty 1( D KUET, CUET, RUET &7 8 T4
05. @b CLFe (e 93 (4T fomad I Tt (e T J3?

(a) 4s (b) 55 (c) 65 (d) 165 (e) 255

sareE: (a); T, =2sec, T, =7

L, =(3+1)L,[ 3 &9 Afrafy, 3 a7 1] = 4L,

Ta L ﬁL: L =>£= L ::>£'=JI . T, =4sec(Ans.)
T, L, T, 4L, T, 4 il

06. 2f0m T @9 Imm’&Zteme cFage (2 o G 0.lmm oFffe are Ied Ay o2
lY =2x10"Nm™]
(a) 5x107J  (b) 5x107*J  (c) 2x107J  (d) 107] (e) 2.5x107]
sagE: (b); L=2m, A=1x10"m", £=0.1x10"m, Y=2x10"N/m?
1 YA® 1 2x10"x1x107°x(0.1x107)

W = = —X =5x107']
2 L 2 2 -
07.*% @F G0 MEE TPGEEF 76 TF 44 2.4x10°cm ¢ = I 2.0x10°cm 2= &fe 99 @ifofone
Y R T2

(a) 2.345x10* (b) 3.2x10%  (c) 2.342x10® (d) 3.5x10®  (e) 2.344x10™
TgE: (€); A=2.4%x10"cm, o=2x10"cm, n=?

]
—=n =2.3445x10%
J2notn

[@ STF cm & m IF AR 9 RS 712 C.G.S @ =g ]
08. FEOITA & IRF TS I (N faeet 2o | ST 519 O A1 T §ors o1 92 [y =1.4]
(a) 0.49 (b) 0.93 (c) 0.38 (d) 0.83 (e) 0.15
FgE: (c); P=1atm, P, =7, V,=2V,, y=14
PV =P,V! =1V =P,(2V,)' = V! =P,2'.V! =1=P,(2)"" = P, =0.3789 ~0.38atm
09. 0.5kg Tw@® 0°C @& 100°C @ I~ <ffece Iqre I© ©Ff w97 [IEATeIEw s
22.68x10°Jkg™, =iff@ @it 4.2x10°Jkg 'K~ @32 39% stewwa Jgert 33.4x10%Jkg™'| '
(a) 1011kJ (b) 1511kJ (c) 5111kJ (d) 71.11kJ (e) 91.11kJ
T1dTE: (b); 3 41Te O && T :
S | IFECE AfTS #ffiere Fare e o, Q, =ml, =0.5x33.4x10* =1.67x10°]J
2 | #ifiE st 100°C <9t &% o1, Q, = msA0=0.5x4.2x10° x100=2.10x10°J
© | TS AT “ifFre FaTe TS &FF O, Q, =ml, =0.5x22.68x10° =11.34x10°]

Loamer, Q=Q,+Q,+Q, =1.67x10° +2:10x10° +11.34x10°

=15.11x10° J=1511x10° J=1511kJ
10.* 727°C wifv SIM@T 3o FRIE T YW @6 =& [ s o feed i [iead T903 $© Sroranm?
(a) 916°C (b) 816°C (c) 900°C (d) 716°C (e) 800°C
FwgE: (a); T, =727°C=1000k, T, =?, E, =2E,
Now, E oc T* :>F—-2=T—€ :?’ZEI: L 3
E~ T E, (1000)
11. =twa el faed TE Acoustic el Level © 3 ia?
(a) 4.01db (b) 3.01db (c) 2.02db (d) 1.03db (e) 0.51db

N ECC (o b

TIFEE OF AKRIPANT A =

=T, =1189207k =916.207°C =916°C




T ; .("). z KUET, CUET, RUET &9 8 TN&TS

AB =1 Olﬂgm[i—z]dB =10x logm(zll
! 1

12.* @36 cuoe NS =f e 100Hz 3=7iitas *= ool Fare e 37 *1fawed es o b ¥ o
fat 36kmhr ™ QT 5o | TS @ifS CTHTS TOUTE T TS AI? [[ISIT 099 @ = 332ms ™' ]

)dB =10xlog,,2dB =3.01dB

(a) S (b) 7 (c) 6 (d) 8 (e) 4
36x10° |

T (¢); V=332m/s, u =36km/hr = 3600 m/s =10m/s , f =100 Hz
AwE T =% o9
s | 9ifn 2 2re Frfe W, £ = — " £ =—>52 % 100=97.076 Hz

v4+u, ° 332+10

Y 332

R | (A TR dfewfes ==, f, = f = x100=103.105Hz

V—u, 332-10

" &ffS GIte e wwe ™ =, —f, =103.105-97.076 =6.029 ~6
13. 12,16 93z 20Q ﬁﬁﬁhﬁmwwmﬁwrﬂwﬁﬁﬁﬂwwmﬁm 2502

T2
() 198502 (b) 9.50 (c) 7.10Q (d) 8.15Q (e) 12.170)
- RQ) 5.1062Q RO
AN (a); 162 | R4 = O RO (R+5.106) O
A— A A
20Q2

aeeee, R+5.106=25 = R =19.893Q2 =~19.89Q2
14. 42 fom g 200Q 99 9 @4 T4y g T Aaa ofer 211fEe 2T @ T §2 ot g/ 7.5kg A

0°C (T "FoAILS T T A2 [#ifaar weeifes st 42000kg "K'

(a) 2.5mA (b) 3.1A (c) 2.2mA (d) 2.4A (e) 2.5A
SgE: (e); R =200C2, t=42min =2520sec , [=7?

m=7.5kg , S=4200J/kgk A6 =(100-0)k —IODk

\/mS&B _I_\/7.5x4200x100

Rt YV 200x2520

15. @36 SMeV i gt fesa e av9 @36 Je *fefe @ 9o e (Fa B Wigefi® Ia19q vl
(e T5q e w1 B a9 9 1.5T |1 (Ai5ta T feramiter It I (@i

[conbrear B @32 =YW T 1.7 x107 kg @R 1.6x107°C]
(a) 7.37x107*N (b) 9.x107"*N  (c) 8.5x10™>N (d) 7.37x107'°N (e) 7.37x107°N

T (a); E, =5MeV =8x107°J, m=1.7x107kg, v=7 :
=1.6x10"J, B=1.5T 99T, v, ¢ 97 FRITIE O |
: SeAPE oF IRE Ifere

_ [ZE 2x8x107" . fRaTmSTFEs
E, = mv =>vVv= \,1%{ = =3.0678x10" m/s §W|W¢TAH&Mnﬂﬁ

F=qusm90° [v"'"B=90°] =1.6x10™"° x3.0678x107 x1.5 | T I CTO T

option @I fwTAT
=7.3628x10""N =7.37x10"*N j VPR T R AR W T -

N ETI ) o e N

[’Rt =mSA0 = =25A"




16. * 4x107kgm” TSR IFT GIH W FIF YFe &fs s 88 oew v | “IfrF g MH—93 IW

Sfwfamniae B8z g ; @ 1 PR KUET, CUET, RUET 20 3 X

@62
(a) 8.5x107 kg —cm’ (b) 7.25x10°kg — m’ (c) 8.49x107kg —m?
(d) 8.49x10°kg —m’ (e) 8.94x10™'kg —cm’
TgE: (c); 1=4x10"kgm?*, T = Ll =1.3636sec, MH ="
I 2y 1 4n* x4x107 | )
T=2n,]— =T =(2n > MH = =8.49%x10 kg —m°
V MH v i (1.3636) 5
17. ¥© @I 551t @36 Spaceship 93 MA4T W (AT WL ZA?
1 1 3 3 C
—C b)-C —C d)—C. —
(ﬂ)2 ()4 (*E)2 ()2 (E)ﬁ
A (d); f=~i—“ , v="7
2 2 2 2
.*.€=€u‘j _ 2 :-Jg—i:fu\/l-—-f-; =>l=\/1—‘: Y- L
C° 2 C 2 C- 4 C
2
= V; = > = v’ =§C2 :>v=£C
C 4 4 2
18. 3000A 3% MTHA WANT AHF *fE T
(a) 41.4eV (b) 4.41eV (c) 0.41eV (d) 0.04eV (e) 0.004eV
AE: (b); A =3000x10""m, c=3x10° m/s, h=6.636x107* Js
-34 8
g-i 0030 XD _6.636x107°) =4.1475¢V
A 300010
19. Gt 1% WY 2341 923 T STHFY FAFT A 3?2 :
(a) 1.27x10°Y" (b) 2.27x107Y" (c) 3.27x10*Y™"
(d) 427x107°Y"" (e) 5.27x107°Y""
FargE: (d); t=2341year, A=7 | ?\.=—l-=—-1——- =427x107Y"
T 2341

20. O30 Brefad @ e AETE Y@ 20cm e 40cm | e 60cm NG 7% 98 9t 30cm e
fe 92 =7 | e TR dfesTRdns e |
(a) 1.33 (b) 1.53 (c) 1.62 (d) 1.47 (e) 1.67
1 1 ] 1 1

1
sgE: (e); u=60cm, v=30cm, f =7 —+—=— = —+ — =1=20
(); v i, T - | u v f 60 30 f -

o I 1 I 11
Again, —=( —l)[——(——]] = — = —1)[ + } = u=1.67
gam, T == 20 20 TR VAT 3

21. @& 9ogeq @fvgmes ofe @GRt 6000 @ aets | »F Seog 58963 SAF CACIA AT (FAre frery
BN S TS (I FO?

(a) 46° (b) 16.2° (c) 45.99° (d) 45.03° (e) 44.01°

N ECOER ¢ U EEEERTTTTIENE

[l




CECTTR O g f

A9 (d); ﬂﬂiﬂe; =nA | N=60001inesf{:m =6x10° lines/m: a=%

2x5896x107'°

= sin@, = -——=0.7075 ~ 6_=45.03" Ans.
1x10
6000
22.  0.02A TR oM T @36 FAEEHT 1 8mA STRallzs 1R ANGT (et | FRTErBTad S &A1z I 377
(a) 38mA (b) 2A (c) 2mA (d) 0.2A (e) 0.38A

saE: (c); Ip =0.02A, I, =18x107°A, 1, =2
=l +I. =I; =1, 1. =0.02-18x10" =2x10"A =2mA
23. TR @7 f&-fop “[rew fow 9o 7098t vy 2mm | 92 % @@ Im Aty 0.295mm 2TEF (OrEr Coar =3 |

HICER A% LAY (FIfo?

(a) 5800A (b) 5896A (c) 4599A  (d) 45.03A  (e) 44.01A
% =3 1

NI 6 2. :%&:bk:d;nzflxlﬁ ><:[]1.295><10 Yaas

24. @36 fFm wmes 23 AThiRGReE vae A0, wamwﬂww 23.5cm, 75.0cm 43z
102.4cm *Ism o1+t Rt 903 | o9 " S $9?
(a) 187.95°C  (b) —190°C (c)18825°C  (d)—187.95°C (e) —188.25°C
Trg: (d); 9-0 _ 23.5-75 = 0 =-187.95°C
100-0 1024-75
25. PN Gibe SERIET T SRR 8 WS (TR e IS 4mm € Scm | 3 ST (@ e
fRtea g 20cm 2 93 SISt (ATe T S[AR R 2503 O @ SgArw qea R Tvor
(a) 294 (b) 290 (c) 245 (d) 300 (e) 275

TargE: (a); v, =20cm, f; =04cm, u, =?

E
] u; Vi O u
1 + — L = 1 1 I U 408 cim /\: b — . :]‘
u, v, f, u, 20 0. 4 f\
V, = —25 cm, fe =3 cm, u, =7 \/ l V f=0.4cm
1 1 1 1 1 1 | Y sem ¥
T gt =— =u,=4.167cm * V=25 cm

u, v, f, u, -25 5
IM[=m,xm, | = {—vlj

Il

]I Vi V2 ‘2“ 529)) _ 594,094 ~ 294
u, u,| 0408 4.167

26. <o [AWME e Ty P—~—§ I T 37 40F | @AE P =61, V =urred, T =Sou@ @32 K =499 |
AR 59 @t 7T 7w
)" (b) " / ©" k
P v \%
o ©| N\
-r'/ e Vv




KUET, CUET, RUET &3 38 I

AAYE: (€); E R AFH T 1 GIoFe wiHge

27. 25g Na,S,0,.5H,0*fte 5ee 1.0Lg teff @ =1 10.0mL 0.02molL'K,Cr,0, 97 i
10.0mL= H,SO,s 1.0g NaHCO,«s E=fgfers 10.0mL10%KIgww Rfeas oy 1, & BrRE*W
FAF o @2 FICR 13.0mL &mes 28 1 Na,S,0,.5H,0 53rs 9ol (FHie?
(a) 0.0462 (b) 0.0923 (c) 0.0231 (d) 0.0115 (€) None
srgE: (b); K,Cr,O, + 6KI+ 7H,S0, — 4K,SO, + Cr, (SO,), + 7H,0+ 31,
2Na_S,0, +1, = Na,S,0, + 2Nal
K,Cr,0, =6Na,S,0,

e,V,S, =€ VS,
VS 65 28210002 9730
V,S, 1 13.0

28. @ aFtel pH 9T @ FEw?
(a) 0.0001M HCI > 0.001M HCI > 0.01M NaOH (b) NH,Cl(aq) > H,0(¢) > NaHCO ,(aq)
(¢) NaHCO,(aq) > H,0(¢) > NH,Cl(aq) (d) NaCl(aq) > Na,CO,(aq) > HCl(aq)
(e) 0.1IM Ca(OH), >1.0M HF > 0.IM KOH
STYE: (c); NaHCO, —— S %/3 (pH > 7), H,0—— & (pH =7)
NH,Cl— T2 %217 (pH < 7)
29. fea @I\ ©iG ey 777
(a) fefew fre=m faferar wia [ =
(b) rorrar fafray Teomm seersr fAfaraces Seored =& @ 4ee =
(c) Fefa fFem ffrars Mfey 3w S@eE ars =1
(d) efgn faferam Gt i e weifiefes as
(e) {H+ H——¢He +, n+*f& |
Tyr: (d); Felgw [fera Gt @6 A AffEe =, mﬁ@mﬂﬁﬁﬁaﬁéﬁ AT | [ AT T

qIe AAAE ¢ FofFy [fera ondsr ]
30. fAtea @ stoafs s wa?
I|{ JO----H—O\
(a) |[H—N—H (b) H,.C—C ,C—CHs
. H \O-H--O
@:0—[:‘ Cl Cl Cl
(c) N=0 (d) Sal Sal () —@)—?
C : e HO N=
} /NN 7 N\
0O Cl Cl Cl
Cl Cl. Cl
Ao N q\Al/ \Al/
141 (d); :
/ .. N\
Cl \Cl/ Cl




Aol sl ogamee (R ; m i KUET, CUET, RUET & 8 WS4

31. 398K srom@m ¥k 250kPa s1est N,O, 18.5% Rranfers =7 | mm'w, Kp a3 7% @EG?

(a) 5.9521 (b) 595212  (c)354278  (d)0.4539 () 2.2031
E: (€); N,O, &= 2NO, Pro, =P ==20185, 750 —78.059kPa
t=0 ] 0 ol+x 1+0.185
— _ 1— _0.
t=ty. 1-x  2x Puo, =P =220185 550 —171.974KPa
ST I MR/ =1—x 42X =14+X [+x 1+O‘185

~0. — Py, ) 8.059)°
Now, x =0.185, P =250 kPa kp=( w,f _ (78.059) 354378 ~15.497%

Peo. 171941

32. @3 1LFE 93 Sl SaEms I vt 100°C Sy @ latm 51T ©f€ 3T I I 0T G 4T 39 | 93
ST 23.8690g 9 IroFT fE FrHd www 20.0123g TA SHEABT (I ©F I FA? IS 909 100°C
S € latm o1 1.188g L |
(a) 118.1049 (b) 81.7244 (c) 156442302 (d) 154.4854 (e) 8275.9623
TAE: (d); LTS, IS S FFT T =20.0123 gm
G, FCIT ST =1L @R 100°C, 1atm Bitsf @@ 979 1.188g/L
e FIH A IFF ST =1.188 gm
ST e =20.0123gm —1.188gm =18.8243 gm

e e PV=—3—RT CICER Rk ol

P=latm, V=1L, m=23.8690-18.8243 =5.0447 gm
R =0.0821Latm/molek, T =373k

PV = %RT = 1x1= 5"1147}:0,082& 373 =>M=154.48536gm/mole

Ofb TR A AT QT SF € I-ASIa 90 @1 AP AT o7 1 o bR I SAET QT
©q |

[Note: Option @ unit (% &8 @I¥4 ©t37 unit gm/mole. ]
33. e STP -t CO @3 9o wi@r 250ppb 20 Sdm’ et CO S 12T (@52

(a) 3.05x10”  (b) 3.05x10"  (c)1.263x10" (d) 1.263x10°  (e) 3.019x10"
TatetE:(a); 10° ppb =1 ppm

a1, 250 ppb = —?—gToppm [ppb= Parts Per billion, ppm = Parts Per million]

S_E, Ilppm=1mg/L

250 250 250

-, 5dm’ @ CO W=%:_Jx5mg =125mg =1.25x10"gm

39, 28e¢m CO @9 AqF =6.023x10° %

6.023x10% x1.25%10>>
28

f6 =2.689x10"°

51.25x107gm CO @9 AT =
T (a) TR option YT FRFIK |




T ) Gy (0

34, (PN ATFSH AGE? [Ans: e]
(a) [CrBr(H,0), JBr, (b) [CoCl,(NH,), ]SO, (c) [PtC1(NH3 )ﬁ3+]
(d) [Fe(OH),(H,0)] (e) [Co(OHXNH, ), |

sgE; (a) @1, IS Cr't @3 AT Tt 7 79

(b) T, TR GITHA SivE WA BIE +1 I

(c) T, T Pt* @7 Afgrast ey 7 9%

(d) T, Fta Fe'* @ A 7=t 8 7%

(e) 7ew, T Co’* @7 AT AT 6 IR GTHT@ Tibe WHAR AN 51er + 2 |
35. 400°CstaE N,O,(g)-4a Rearses sasifs s Fa= 7w 7 i @ 10min =7 [iear sraeas st

80mm Hg | faferr finseet =i 517 60mm Hg 2 10 min 31CE T =TT N, O, Rafee zwe?

(a) 66.67% (b) 34.37% (c) 50% (d) 25% (e) 90%

Y (a); PV =nRT, V,.T &3 90 P « n

ffeF: N, 05 = 2NO, +20,

A GFCS N,O; tﬂﬁ"rﬁmqamuleﬂ t AN “td (a,x) mole T, mﬁn=a—x+§=a+§

GQYq, P n ?:I'C?r - -—;§=2+2(£)=§=>8=6+3 G) -'.§=§=66.6? .-.Opﬁnn(a)ﬁ?fl
36, 02175 o9 G (ATF WEERT FSTS 0.5825g REAT ST NG A | & AT TEHN AR
sAfarrer Fo? |
(a) 40.45 (b) 36.78 (c) 24.32 (d) 44.36 (e) 50.12
e (b); S(%) =~ x 2522 % 100% = 36.78%
233" 0.2175
37. 4s*3d’ @A F 3 QT [RER Ghe oo oW Sfe g
(a) e g MO @3k M, 0, *1¢7 I (b) GT= SRAERT Gl
(c) Gl 3 g =157 (d) GRetfG apet VIIB -a w=fgs
(€) GTAfT ALTS o

st (d); &ty S ciaft Co @ik of Gr VI 93 989 |
38. IT-97 T FIRT AT TR T oA (I IS0 Te?
(a) A 0T G 2R WY (b) T were SEArdr C — C IS o
() A 0T W@ TE[E W 367 Ao Oy (d) T AR T TG TH ST TG
() T 7o FAGTET sp° AFANTS
Y (C); BT T AT W 71 g 77 Pl ©f XA |

39. @A — ] €3 ALF© (FAD? [Ans: €]
Oy
o O «3 103 -@n—G
SO,H OH
| @ e O)
(©)HO;s < O)—N=N—<O> (d)H0,s < O)—N-N—~<O) () HO:S —~O)-N-N<O>

OH

— Bszw SRR Avcemmmeen.




R ) ( mme

41.

42.

43,

effamise guz e
40. CO,¢ CH,COOH &3 &1 %5 G Wit T —394 KJmol™ ¢ —489kJ mol™ | CH,COOH

A 2 R O 97 T — 87 IkJmol ™ | H,0 97 & 18 ameiefs iwi?

(a) —286kJmol™ (b) —302kJmol™ (c) 270kJmol™ (d) —262kJmol™  (e) 316kJmol":

s4E: (a); CH,COOH + 20, —» 2C0O, +2H,0

AH =[2AH, , +2AH;, o] —[AH{(cy,—coomy + 2AH; o]

= —871=[2x(-394) + 2AH, y ,,1-[-489+0]["- AH; o, =0]

= AHgy o, = —286k] /mole

2, 4, 63I3FAFE (Trichlorophenol) @3 Wty @R OF *rowat 77 F©7

(a) 52.85% (b) 53.92% (c) 54.47% (d) 51.85% (€) 55.92%

OH
Cl cl
sgE: (b); E:)j/ =C,H,(OH) (Cl),
Cl
2,4, 6TRZEAT (FER@ qARE ST =6x12+1%x2+164+1+35.5%3 =1975

‘1
S Cl(%) = 2232 L 100% =53.92%
197.5

ﬁtﬁﬁﬁﬁﬁ[ﬂ@mﬁ Yr_, f;Mg emit onefl—ray )’X emit onect—ray Y -
(a) 5 Al (b) 1y Na (c) 15 Al (d) ;, Na (e) i Na

B-ray=] e

24

9 —ra - 20
srE: (d); , Mg—= 55 Al—== 5/ Na

o —ray =; He
DX=RAl Y =/ Na
(PN &I OH™ @3 wormar I 5x 10 mol.L =, otetet 5aesa pH @7 91 3% 27
(a) 3.30 (b) 10.70 (c) 3.32 (d) 3.35 (e) 9.70
g (b); p° =—log,,[OH]=—-log,,(5x10™*)=3.301
pH=14—p”" =14-3.301=10.699 ~10.70

WS ufiers P,0, 7R T6e 340 fF todt 2@y ,.
(a) Acid anhydride (b) Ethanol (c) Ethanoic anhydride
(d) Methanol (e) Ethyl ethanoate
O, O
seE: (¢); 2CH, —COOH +P,0, — CH, — (IE— O- (l'l’_,— CH, + 2HPO,
Ethanoic anhydride

45.* o e oo e Ni qrefog Sof3fs Ay s

46.

I

ECCH o

(a) Group-II (b) Group-III (c) Group-1II(B) (d) Group-1V (e) Group-V

T4 (¢); Group — I1I(B)

40mLH,SO,800mL #lffts Zdge a1 zw@, @R Haow = oeifebre v z@? [H,SO, 97 19

=1.98g/mL @ “Niff@ <7y = 0.9888/mL]
(a) 0.5102 (b) 1.0102 (c) 1.0216 (d) 0.5159 (€) 0.5204




g f"""“’“"’"'
EEE | &

TgE: (c); H,SO, a9 7, W, = 4U:>< 1.98=79.2gm|m = vp]
A" S, w, =800x0.9888=791.04gm

H,SO, @7 Gt =9, m=98gm/mole .-, rmfas =~ X000 79.2x1000 _, 4516

mxw, 98x791.04

47. 42°C stm@cs Sn | SnCl,(0.70M) =€ @rafo o< (emf) @Al 2@? [ E g/ent = 0.14volt]
(a) 0.1352volt (b)) 0.1399wolt  (c) 0.1450wlt  (d) 0.1448wlt  (e) 0.1496wvolt

srer: (d); E=E°_ -% In[Sn** | [wécerm RfeFm Sn —2¢” — Sn*]
314
=0.14- 2212315110 70) = 0.1448 Vol
2x96500

48. 0.20g 2GS @3 Tty [ sAfamrer F3miees 9 wieg?

(a) 1.246x10®  (b) 3.0125x10% (c) 3.0125x10% (d) 6.023x10%  (e) 6.023x10%

saryE: (d); H, 993 1 =%x6023x1013 =6.023x10%

49, 530g fofva smearas g3t 6%(w / w) i =it | 51wt fofew core syt o2
(a) 0.0031 (b) 0.0877 (c) 0.9969 (d) 0.0041 ~ (e) 0.9959

: (a); Bfa o7, w, :%x530=31.85m

B (e C,H,,0,,) @3 GER ST M, =12x12+22x1+11x16 =342 gm/mole
w, 31.8
M, 342
N 57, w, = 530—w, =530—31.8=498.2 gm
ofiffar e ©9, M, =18gm/mole

. fofea cr& F1e4mt, n, = =0.09298 mole

;. AT Qe A, n, = :13 sy M 27.6778 mole

2
- Rfmammeer, X, =—u = 009298 40334 ~0,0031

n,+n, 0.09298+27.6778

50. TR Y AR SIFIGAN FBIARE (V,0,)a=r 500°C eroimians wifae Fee & todt 222
(a) @Efe afie (b) &&= (¢) ATEECRIZG
(d) fizer Refie afte (&) 22T @A
CH;, COOH

@ ©

51. ZJ_ 21 2~/—+61 tﬂ?!l (AT ST ZCET—
(EI,) 16\{_3"1'#'2 (b) 16‘J§E3lm"2 (c) lﬁﬁein‘ﬂl (d) lﬁﬁeﬁnﬂl (E) 16‘\/5&5””4

s (a); z=—12+i16v3 +12 =163 =16+/3e 2

R o ST




:-:52*'.’.":"'2:5-"-.:;; = ﬂb _ 1::';_ SN
e g‘] Dot KUET, CUET, RUET &4 8 JSI4Td

52. IM a—PB=8¢ o’ —P’=15277, %7 o8 Bqﬂﬁﬂﬁﬁmwﬁwﬁt— -

(a) x*—8x—-12=0 (b) x*-2x-15=0 (c) x> +12x+15=0
(d) x*+15x+2=0 (e) x> +12x+8=0
TrgE: (b);
o B |o-p=8| o’-p3=152
1| -7 J X sLa=3pB=-5
2 |-6 J X D'.=5,|3=—3
35| J c. R g, x* —2x-15=0
4| -4 \/ » qR x*+2x-15=0
s[5 7 [ 4
5
53, ———— 97 WP SR 2
X —81
(a) x— fx + 2 +- > (b) x+ 291 == 2 __ 9
2x°+18 4x-12 4x+12 2x°+18 4x-12 4x+12
Ox-% 9, 0 @x_, O
2x°+18 4x-12 4x+12 2x°+18 4x-12 4x+12
Ox 9 9 '
(€) X +— — —
2x°+18 4x-12 4x+12
S—— X _x(x4—81)+81x_x+ 81x . 8 1x
7 x* -8l x*—81 (x*=9)(x*+9) (x+3) (x=3) (x*+9)
8 Ix A B Cx+D

4fq

: = + +
(x+3)(x-3)(x*+9) x+3 x-3 x2+49
= 81x = A(x=3)(x* +9) + B(x +3)(x* +9) + (Cx + D)(x +3)(x —3)
9
— B:—
X =3 T, 4

X = -3, A=?—
4

&7 AP F9T, 0=—27A+27B—-9D =D =0

x° a7 7R AP T, 0=A+B+C :>C=—%
x> 9 9 Ox
=X+ - —
x*—-81 4x+12 4x-12 2x%+18

Shortcut: Use Calculator (2T x @3 &% I I/ @ result =1eT @19 option @ @3 result WG
check =9 ||

54. -ﬂﬁ C=AB @W, A:

9 14 10] 7
(a)|7 10 14| (b) |9
6 9 7 12




B ¥m o ; .‘ ; é ;-': 3-: » KUET, CUET, RUET &3 3 JNIHId

sy (d); C = AB

1 2 311 1 2] [1+2+9 1+4+6 2+6+3] [12 11 11
=(3 2 11|11 2 3| =[3+2+3 3+4+2 6+6+1(=|18 9 13
11 2|3 2 1] [1+1+6 1+2+4 2+43+2] |8 7 7]
Shoutcut: Use Calculator
21 24 26 .
55.%¥ 1+—+ s 4T @rTs ZE—
2! 3 41
e’ —1 e +1 e —1 —1 et +1
a b C '
(a) (b) — (©— (&) —
2 4 6 2 3
TgE: (d); S—1+2—+E—+2—+ .00 =S = 1+4+4 +4—+ .............. o0
21 31 4 2 31 4
4° 4 4°
2S4S =44+ — 4+ —F—F e o o [T F 4 T o ]
2 31 4l
2 3 4 4
:>445‘,+1—1+4+f1'—+‘:Ir 4 beigiviidons Sobe o =4S+1=¢" ::>S=e :
o2 3t 4l 4

Shortcut: Calculator T (33 ©F #7 %) Fra w2t 13.395... W A D @9 Mia SRR |
56. X 99 FIIEAN (GO lﬂge(l—?:x +2x2)*1nﬂ'§ Ole X' AT R REAT—

42" 3" 11 4“—5 n-5 11n—9

(b) = © @@= @
st (a); In(l—3x +2x3)" =1n(1—2x—x+2x2)“ = (=1)In{1(1 - 2x) — x(1 - 2x)}
= —In(1-2x)(1-x) =—In(1—-2x)—In(1—X)

(a)

2 3 n 2 3 n
= — —2x—(2x) _(2%) —...........—(2X) = eceeeins ob—dax -2 .-—(K) — veeens
2 3 n 2 3 n
3 n 2 3 n )
= 2x+(2K) (2X) +dZ.. +(2x) Fn O dx+ 2 e, +(K) T o0 $
2 3 n 2 3 n
; 2" .1 1+ 2°
X a9 7 = + =
n n n
57. 3% tano—tanP=p,cotp—cota=qe0 =0 —P=ZT, S cotO T I A
1 1 1 1 1 1 "
(a) == (b) ——— (@ —+= @ 1-2 () 1+5
P 4 q P P 9 q q
FA14E: (¢); tano—tanPB=p
— : - : =p :>COtB_CDtu=p:> 4 =p =:>cntc1cat|3=-g—
cota. cotfs cotacotf3 cotacotf3
tacotp+1 1 1 1
cotf} —cota q Pq P q
58. % y, =3sin8x,y, =4cos8x 8 y=y, +y, T, O y 97 B 21—
(a) 3 (b) 8 (c) 5 (d) 4 (e) 9

TeE: (€); Y, © Y, aaﬂwwwg -, % R, A =.ja’+al =32 +4* =5

TR ) 0 ) S N




e '_'.: -. {,.._ - |
fSfaa<e 85 T A ; @ ﬁ S5 KUET, CUET, RUET & 3 T4

59. 3" sm(zcc}sa) cu{gsina]iﬂ, O] oL 99- T TEl—

T 1
(@) 0.5 (b) © 7.

nr
4’2

| =

SgiE: (d); sina=cosP TH, a = +[3

(1=U¥CH,B=V ‘ﬂ?ﬁ13=U§FT,L‘1=“2;W —cnsu 0-:1—/
%smﬂ. 0, =0 ; =ar, [ efa == : (0, /) I &/

60. M sinO + cosecO =2 %W, O sin" O+ cosec"O 9T T T
(a) 1 (b) -1 (c) 2 (d) -2 (e) 3
1
sin©
=>sin0+1-2sin0=0 = (sinf—-1)* =0 =>sin®-1=0 ..sinB=1
1

FA14E: (¢); sinB+cosecO=1 = sinB+ =1 =>sin’0+1=2sin6

Now, sin” 0+cosec”@ =sin"0+—— =(1)" + =141 =2
sin" 0 (1)"
61. 3w P(1,2) fo it =@, @ OP u7 8% &7, wFae A8 BfEge @ #1, o7 OA° +40B* @7
I - -
(a) 9 (b) 17 (c) 21 (d) 50 (e) 75
TrgE: (d); tanﬁ—ﬂ 2:::2&}:—&3; OP «q &+ \%
Ax 1 B(0,y)
Ay=-—Ax AB @7 & y — decrease
2 . x—>increase P(1,2)
x=2+1.5+14+05+0=35, .'.y=2+0.5+0=§
or, y — 2——1(}:—1) or,Xx+2y=35 0 X
2 0(0,0) [ ¥y=0 A(x,0)
5 0«x

. OA=x=5and OB=y= S T OA’ +40B* =50

62. ABC fagres ¥ el g gar@s A(0,0), B(1,5) €32 c(—i,z) e A f@pid B ¢ C fPmam
@G ATIAGFA @AF T F0aa TN ZeE—
(@) 2x+5=0 (b)2x+y=0 (¢)3x+3y=0 (d)1ly=2x (e) x+y=0

A(0,0)
FALE: (€);
B(1,5 D (C(-2,2)
-2-1 =3 m,

S AD @3 sdieEds (y—0)=(-D(x-0) =>x+y=0

_ fillgew SRR Acmeommm e




st e S U

63. x*+y' —8x—-6y=0¢ x’+y’ +32x +24y =0 I8 (T AN € o @F T AR
(R o o7 (TR A ZCE—
(@) 6x—y=0 (b)4x+3y=0 (c)3x+4y=0 (d)3x—-4y=0 (e)4x-3y=0
FAYE: (b); AT T AT @RI TR @ QAT TGRS ST 97 TS HITR—
X’ +y —8x—-6y=0......... i); x*+y*+32x+24y=0........ (ii)
(i) — (ii)y —40x—30y=0 = 4x+3y=0(Ans.)
64. W Sy =x 450w y* = 4ax “ARGT G =i Tu, O OIF @FIHHT 2

(a) (1,0) (b) (10,0) (c) (2,0) (d) (5,0) (e) (4,0) |
TgE: (¢); v = mXx + ¢, y? = 4ax Q@R =P I O @AY G300, T 510 27 |
=0 *, ¢ = % =>10=5a=>a=2 .. D=(—20a)> —4.200a.1

S5y=x+50 = x=5y-50 = 0=400a*-800a = a*-2a=0

y* =4ax 1, y> =4a(5y —50) =a=2 [a#0 OIS “Hge A )

a1, y? —20ay +200a =0 .". Focus(a, 0) =(2,0)

65. ¥ *RIYCST TR 8 FW WF UG X8 y WF [ARA | I ToAG@HA (FIOrmHEeg I4FE 17y 8§ GIF @3
TP @RI x TS Ay 18 93 | Bogran Wiiead @ En?

2 2 2 2 2 2 2 2 2 2

i

Xy X y X y X y X y
a +—=1 (b)) —+-—=1 +—=1 (d +—=1 —+—=1
@76 s Ogitie™! Ot~ Dg+s=! @355
Y
1 1 «
TyE: (e); | —ag——"
acfae” |
a. a
c c
TS, 2ae =8........ (1) ; Et-=18.........(ii);, (i) x(i1); 4a’ =144 = a’ =36
e
TIPS~ b* 4 X’ y2 X<a¢ Vi
)+(i),e"=— =1l-—=— =b*=20 ...e X:—5+—==13d —+=—=1(Ans.
1)+ (1), " =3 2?9 T TR 36 20 (AS)
66. I @(z)=ysinz+v e y(w)=sin" (yw? +y*) =, == o(y(u?))az Tz
(a) (udt +yjﬁI + Vv (b) ysin"(u: +y)+v (c) j,fsin‘_',z(u2 +y)+v
(d) (u*+y)" +v - @ (i +y) +v
s (a); o(w(u?)) = ¢lsin™ (yu* +y*)™") = ysinsin™ (yu* + y?) +v
] 4 1
=YX >+ - +V = +: +V
4 yu' +y’ v u'+y (u y)
2
67. W x =a(0+sin0B), y=a(l—cosB)=x, I gx%aamm—
a a 1 l 1
a 5 b C d e >
(®) (1+cosB) (b) (1—cosB)’ (©) a(1-cos0)’ ( )El(l-i-EGSB)E ( )(l+cose)'

TR | 1




TR | g §

Tar¢=: (d); x =a(0+sinB) ; dB =a(l+ cose)

y =a(l—cos0) ; %=asm9

dy | ]
dy 4o  asin® sinf dz _d [dy) d (dyj do dB
dx dx a(l+cos0) (1+CDSB) dx\dx/) do\dx) dx dx

-
D
-

0
(1+co0s0)cosd —sin O(—sin 0)

_ (1+cos0)’ _cosb+cos’0+sin’0  (1+cos®) 1
a(l+cos0) a(1+cos0)’ a(l+cosp)  a(i+cose)?
68. IMWm y=}w:2 logx =T, 7 Y, 99 TN RCET— '
(a) 7x (b) 9x (c) 2x+3 (d) 3x+5 (e) 2/x
2
TYE: (e); y=x"logx; vy, =2x1ugx+x— =2xlogx +x
X
] 2
Y, =2X.—+2logx+1 =y, =2+2logx+1 =y, ==
X X
69. Lt> 3 —2xlog.3 e
x>0 X —sinx

(a) 2(log.3)  (b)2(log.3)"  (c) 2(logye)’  (d)2(log,e)’  (e) 6log, 3
3" -3 -2xlog_3

Iqigi=: (a); Lt .
x—0 X —SIinx
2 3 y.
{l+xln3+(xln3) ,(xm3) _[l_xln3+(x1n3) —...m:|—2xln3
1 1 2! 3 1 2
-x—rﬂ I ;{z xj :!
X —]X— - = =00
R
. 5 d
" x1n3+(xln3] 4.0 |=2(xIn3) 2 (In3) X (In3) .
gL 1! 3! ‘ gL 3! 5 I
_:c—H'.] };3 }(5 x-‘r _x—*ﬂ }{3 }{5 K?
-+ — —,..00 —— 4+ — =0
357 357
_ _ . ,
L
= Lt —L — - 4 =2(In3)’ ~2(log, 3)

2 4 =—F
: X’ [I A X —-...u::n:l l:l + U]
3 57 3!

Shortcut: La Hospital
[ 3* =37 -2x1In3 3" In3+3In3-21n3

: = Lt
x—0 X —SsInx x—0 ]l —cosx
X 2 —-x 2 X 3 -x 2
13 (In3) . 37(In3)" _ 1¢3(In3) +3™(In3)" _ (In3)’+(In3)’ = 2(In3)
x—0 sin X x> COSX

R | | ST
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70 J-(tanx+tan x)dx

I S aOF T LT
(E) %tﬂﬂ-l (esccl x)_l_c (b) tﬂn_l(%ﬂsm:x]—}-ﬂ (C) 2tﬂ_[]-_l (Esmlx)
(d) tan"( = ")+c (ej %tan"(e'“:“ﬁc
ST (a); Izj(tanx+tan x)dx Itanx1+tan x)dx "' * tan x.sec’
EEE:C X SEE X ( )_+1
ESEC X
qﬁ; esex:zxz
. _secix | dt | _ | 1 st
s.e' " 2secx.secxtanx dx =dt . I=—|— ——tan"'t+¢c =—tan" (" ")+c
29t +1 2 2
==\ qu'm:{m- [Ans: d]
'l-aJ 2x X’
T 3n St In
(a) T (b) 2 (c) FE (d) ) . (e) >
1 dx l dx | dx
g 1 = = = =
’[”\/2:(—1(3 ‘[”\/i~ —2x +x%) I“Jl—(l—x)z
_”_dt_[-—l]ﬂ_[-—l --1] 4 | — x = = _
= ——— =—sin” t|;, =—sin” 0—sin""1 L Il-x=t x=0->1t=]
L 1-t’ | I.'.—dxzdt X=1—>1t=0

= sin~! (sin™) = sin~? ('si T)) =28

= Sin (smz)—sm (51n(2n+2))— :

72. T 12 939 fR @3S 35 ¢ SEE @B I @3 e  IweId fF N IR @, SIMd #fd WSl 0T SEE
G2 T ICET9 ©2F N T, ST WA A0 NI (FH6?

(a) 9v/2units  (b) 8+/3units (c) 16v3units  (d) 18v2units  (e) 4v/6units
SN (b); TRl I IAR[I FTHI—

P
_12 RDE
124+ Pcosa=0 = cosoo=—— | P
P a
. A @3 1

12
(PY’ ’ 2 .
g] =12% +P? +212P(-—1$2—):>P?=144+P“—288 :%P2=144 = P =8+/3 units
\
73. 39 SR IS FANA (FIF I NOGHE TP FNED AT I FAAfed aR 4 GFF AN WfoT e 79

64 OTF ZLE | 6B M NOTFT FAT—

(a) 512mm (b) 256mm (c) 256km (d) 128cm (e) 128km
g (a); et @ 9T 9T I 9TF TR T WL 1R |

[ % -hour WCE 8 T mm G T (a) @F FwY fee |]

3 3 3
soct? =>s=kt? 5.8 =8t?
T, t =4 ©UF 5 = 64 t =16 hour =
3 3
-~ 64=k(4): =k=8 s=8(16)7 =512mm

TR ) ¢ {0 ST




74.

75.%

76.

77.

78.

79.

80.

31.

82.

fafae ez enqames |

44 Trefe #Afafy Ri¥2 @6 corerss, Fifereims oem (R o I s <t < HF A FAa wres
CET—(@AE T9qI = 22/7)
(a) 513.7cm’ (b) 213cm’ (c) 798m’ (d) 718.7cm®  (e) 128km

22

g (d); f@ e R=r,h=2r; @39, 2nr =44 =r=2%¢m
n

S I e =nR*h =nr?(2r) =2156cm’
S

WW:EHE _4.22 1221 -1437.33cm’
3 37 |22

\ 7 /
;. ACHS AT ZeAa wweq=2156—1437.33 =718.67cm’ ~ 718.7cm’
A'e BaFE I¥ (TS JUAGFN 158 5 GFF T GR 56 0T FIOMEA AT | 1059 J0T 8 60 G
FIBTIE g T (1 #11S 20T, T4 A 7 &S @@ ai1e 50T 9 'St B 97 & 30T, ©f 2l

(a) 390G (b) 4205 (c) 38001 (d) 40051 (e) 3505t
TAYE: (a); €, x 9T A 8 y @IF B S 99
S 15x +5y <105

5x +10y < 60

Z . =50x+30y

(0,0) Fte Z=50.0+30.0=0

(0,6) fTt® Z=50.0+30.6=180

(7,0) Rw® Z=50.7+30.0 =350

(6,3) Rte Z=50.6+30.3=390 (Ans.)

Choose a word for the blank below. [Ans : b]
He comes here a week.

(a) within (b) once (¢) In (d) often (e) everyday

Find the correct noun form of the adjective- "Necessary". [Ans : c]

(a) Necessitate (b) Necessitated (c) Necessity (d) Necessaril (e) Necesssarible
What kind of pronoun is the word 'that' in the following sentence —"All that glitters is not gold."

(a) Reflexive (b) Interrogative (c) Relative (d) Demonstrative (e) Personal [Ans : d]
Find the correct verb form of the noun-'Reality’. . [Ans : a]
(a) Realize (b) Realistic (c) Really (d) Realized (e) Real

What type of adjective in the world "neither" is the following sentence — "I shall support neither
party". [Ans : b]
(a) Descriptive (b) Daistributive (¢) Quantitative

(d) Demonstrative (e) Possessive

Point out the sentence with correct use of adverb. [Ans : e]
(a) He is carefully examining the script. (b) He is carefully looking ther script.

(c) He'is examining the script with full care. (d) He is carefully looking after script.

(e) He 1s observing the script carefully.

Choose the appropriate parts of speech for underlined word in the sentence-
"The earth moves round the sun."” [Ans : e]

(a) Noun (b) Verb (c) Adjective (d) Preposition (e) Adverb

TR )




83. Find out the correct sentence with correct form of verb. [Ans : b]
[f I were you, I(not do) this.
(a) If I were you, I will not do this. (b) If I were you, I would not do this.
(c) If I were you, I shall not do this. (d) If I were you, I will not have done this.
(e) If I were you, I might not do this.

84. Select the correct change of voice of the following sentence. [Ans : ¢]
His pen has been stolen.
(a) He has stolen his pen. (b) They stolen his pen.
(c) Someone has stolen his pen. (d) You stolen his pen. (e) None of these.

85. Find the correct passive form the sentence — "I saw him reading a book." " [Ans : c]
(a) I saw that a book was read by him. (b) He was reading a book seen by me.
(c) He was seen reading a book by me. (d)I say him that a book was read.
(e) He was reading a book that seen by me. |

86. Choose the right answer for conversion of the following sentence as directed. [Ans : b]

He is very dull and cannot understand his lesson.(Make is simple)
(a) He 1s very dull and he cannot understand his lesson.

(b) He 1s too dull to understand his lesson.

(c) He 1s too dull that he cannot understand his lesson.
(d) He is so dull that he does not understand his lesson.
(e) He 1s being dull that he can not understand his lesson.

87. Which one of the following 1s the correct indirect speech of the sentence — He said to me, "Please
don’t eat all the biscuits." [Ans : b]
(a) He said that do not eat all the biscuits.

(b) He requested me kindly not to eat all biscuits.
(c) He asked me kindly not to eat all the biscuits.
(d) He asked me not to eat all the biscuits.

(e) He said that please do not eat all the biscuits.

88. Choose the correct sentence from below. [Ans : c]
(a)I will go by the 9-30 train. - (b) I will go by the 9-30 O’clock train.
(c)I will go by the train of 9-90 O’clock. (d) I will go to the train of 9-30.
(e)I will go to the 9:30 train.

89. Choose the correct transformation of the sentnce as directed. |Ans : a]
He is too weak to walk.(Make it complex)
(a) He 1s so weak that he cannot walk. (b) He 1s too weak that he cannot walk.
(c) He 1s enough weak so he cannot walk. (d) He is such weak that he cannot walk.
(e) He is so weak so he cannot walk.

90. Choose the correct feminine gender of "Executor” |Ans : a]
(a) Executrix (b) Executress  (c) Excutree (d) Executraie (e) Excelency

91. Choose the correct Retranslation of the sentence "He is wise enough to understand it."
(a) GT @© &I @ GFA QI | (b) @ T [ T© ©OF I WE |
(C) GT Gl FATS (PITAE | (d) @ = QRIF IO T0AD e W2 |
(e) &7 «® I @ b FRTE | [Ans : b]

Sz SEIERILERE  Aemommsoen |




92. Choose the correct answer for translation of the following sentence into English. [Ans : b]
(TG G G 2JAME |
(a) The wall is falling. (b) The wall is going to fall. (c) The wall falls.
(d) The wall is about to fall. (e) The wall had fallen.

93. Choose an appropriate for filling in the gap of the sentence below. [Ans : a]
"Virtue will prevail .......... evils one day.
(a) upon (b) with (c)over (d)to (e) anainst

94.  Which one has closest meaning of the idiom, "Better-half." [Ans : e]
(a) Good partner (b) Well wisher (c)Husband (d) Good lover (e) wife

95. Choose the correct plural number of the word- "Louse”. [Ans : ¢]
(a) Louses (b)Lise (c)Lice (d) Lousee (e) Loiie

96. Choose the correct Antonym of the word-"Virtue". | [Ans : d]
(a) Liar (b) Unwise (c) Devil (d) Vice (e) Traitor |

97. The tag question of the sentence "He was not watching the cricket match" is [Ans : ¢]
(a) Was not he? (b) Is he? (c) Was he? (d)Wasn’t he? (e)Had he? -

Read the following passage carefully and give answer to the Question Nos. 98 to 100.
A new hearing device is now available for some hearing-impaired people. This device uses a
magnet to hold the detachable sound-processing portion in place. Like other aids, it converts
sound into vibrations, but it is unique in that it can transmit the vibrations directly to the magnet,
an then to the inner ear, producing a clearer sound. The new device will not help problem in the
middle ear. It will probably help no more than 20% of all people with hearing problems. Those
people however, who often have presistent ear infections should find relief and restored hearing
with his device.

98. What is the author’s main purpose? [Ans : b]
(a) to describe a new cure for ear infections.

(b) to inform medical personnel of a new device
(c) to urge doctors to use the new device

(d) to explain the use of the magnet

() to attract the hearing-imparied people. |

99. Why the device is unique? [Ans : d]
(a) Because it gives sound directly to the inner ear.

(b) Because it gives vibrations to the magnet.

(c) Because it transmits sound faster to the ear.

(d) Because it transmits vibrations directly to the magnet and then to the inner ear.
(e) Because it takes little time to produce clearer sound.

100. Who can get help from this device? [Ans : e]
(a) All people can get help from this device.

(b) Only those who have car infection.

(c) Only those who have problem in inner ear.

(d) Only those who have problem in middle ear.

(e) Only those with a hearing loss caused by infection other problem in middle ear.

N ECO ) o [




